

ASYMPTOTIC FORMULA IN SIMULTANEOUS APPROXIMATION  
FOR CERTAIN ISMAIL-MAY-BASKAKOV OPERATORS

VIJAY GUPTA\* and MICHAEL TH. RASSIAS†

**Abstract.** The present study deals with a modification of Ismail-May operators with weights of Beta basis functions. We estimate weighted Korovkin's theorem and difference estimates between two operators and establish an asymptotic formula for the derivative of a function.

**MSC 2010.** 41A25, 41A30.

**Keywords.** Ismail-May operators, Baskakov basis, asymptotic formula, simultaneous approximation, weighted Korovkin's theorem.

1. THE OPERATOR

In 1978 Ismail and May [13] (see also [12]) studied certain operators of exponential type and introduced some new exponential operators. The following sequence of operators constitutes one of the families of linear positive operator proposed in [13, (3.14)]:

$$(1) \quad (R_n f)(x) = \sum_{\nu=0}^{\infty} r_{n,\nu}(x) F_{n,\nu},$$

where  $F_{n,\nu} = f\left(\frac{\nu}{n}\right)$  and

$$r_{n,\nu}(x) = e^{-(n+\nu)x/(1+x)} \frac{n(n+\nu)^{\nu-1}}{\nu!} \left(\frac{x}{1+x}\right)^{\nu}.$$

These operators are exponential type operators as

$$x(1+x)^2[(R_n f)(x)]' = \sum_{\nu=0}^{\infty} (\nu - nx)r_{n,\nu}(x) f\left(\frac{\nu}{n}\right).$$

---

\*Department of Mathematics, Netaji Subhas University of Technology, Sector 3 Dwarka, New Delhi 110078, India, e-mail: [vijaygupta2001@hotmail.com](mailto:vijaygupta2001@hotmail.com).

†Department of Mathematics and Engineering Sciences, Hellenic Military Academy, 16673 Vari Attikis, Greece,

‡Moscow Institute of Physics and Technology, 141700 Dolgoprudny, Institutskiy per, d. 9, Russia,

†Institute for Advanced Study, Program in Interdisciplinary Studies, 1 Einstein Dr, Princeton, NJ 08540, USA, e-mail: [mthrassias@yahoo.com](mailto:mthrassias@yahoo.com).

In recent studies, Gupta and Rassias [10] presented a collection of the moments of several linear positive operators, Agratini [2] estimated approximation properties of integral-type operators. The operators  $R_n$  are not suitable in order to approximate integral functions. Additionally, it is observed in [6] that obtaining the usual Durrmeyer variant of the operators (1) is not possible due to the non-convergence of the integral

$$\int_0^\infty r_{n,\nu}(u)du.$$

In the recent work [6], the hybrid link operators were introduced and the approximation behavior was discussed. We consider here new hybrid operators with weights  $b_{n+2,\nu-1}(t)$  of slightly modified Baskakov basis functions, which for  $x \in [0, \infty)$  are defined as

$$(2) \quad (V_n f)(x) = \sum_{\nu=0}^{\infty} r_{n,\nu}(x) G_{n,\nu}(f),$$

where

$$G_{n,\nu}(f) = \begin{cases} (n+1) \int_0^\infty b_{n+2,\nu-1}(u) f(u) du & : 1 \leq \nu < \infty \\ f(0) & : \nu = 0 \end{cases}$$

$$b_{n,\nu}(u) = \binom{n+\nu-1}{\nu} \frac{u^\nu}{(1+u)^{n+\nu}}.$$

For simplicity, we use the notation

$$v_{n,\nu}(u) = (n+1)b_{n+2,\nu-1}(u)$$

throughout the paper.

The operators (2) reproduce linear functions. The investigation of convergence of operators in ordinary and simultaneous approximation has been an active area of research over recent years. We mention here some of the related work viz. [3], [7], [8], [9], [11]. In the present paper, we estimate direct result in weighted norm, difference of these operators with discrete operators and prove a formula of asymptotic kind for derivatives of the operators  $V_n$ .

## 2. SOME LEMMAS

LEMMA 1. *If*

$$U_{n,q}(x) = \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \left(\frac{\nu}{n} - x\right)^q, \quad q \in N \cup \{0\},$$

*then the moments satisfy the relation:*

$$nU_{n,q+1}(x) = x(1+x)^2 [(U_{n,q}(x))' + qU_{n,q-1}(x)].$$

*Also, one can observe that*

$$U_{n,q}(x) = O_x(n^{-[(q+1)/2]}),$$

*where  $[s]$  stands for the integral part of  $s$ .*

Furthermore, for  $e_i(t) = t^i, i = 0, 1, 2, \dots$ , we have

$$n(R_n e_{q+1})(x) = x(1+x)^2 [(R_n e_q)(x)]' + nx(R_n e_q)(x).$$

LEMMA 2. If we denote  $\mu_{n,q}(x) = (V_n(e_1 - xe_0)^q)(x)$  for  $q \in N$  and  $x \geq 0$ , then

$$\begin{aligned} (n-q)\mu_{n,q+1}(x) &= x(1+x)^2 [[\mu_{n,q}(x)]' + q\mu_{n,q-1}(x)] \\ &\quad + q\mu_{n,q}(x) + qx(1+x)\mu_{n,q-1}(x). \end{aligned}$$

In particular, we have

$$\mu_{n,0}(x) = 1, \mu_{n,1}(x) = 0, \mu_{n,2}(x) = \frac{x(1+x)(2+x)}{n-1}.$$

In general for all  $x \in [0, \infty)$ , we have  $\mu_{n,q}(x) = O_x(n^{-[(q+1)/2]})$ .

*Proof.* Using

$$x(1+x)^2 r'_{n,\nu}(x) = (\nu - nx)r_{n,\nu}(x)$$

and

$$u(1+u)v'_{n,\nu}(u) = [(\nu - 1) - (n+2)u]v_{n,\nu}(u),$$

we have

$$\begin{aligned} &x(1+x)^2 [\mu_{n,q}(x)]' = \\ &= \sum_{\nu=1}^{\infty} x(1+x)^2 r'_{n,\nu}(x) \int_0^{\infty} v_{n,\nu}(u)(e_1 - xe_0)^q du \\ &\quad + ne^{-nx/(1+x)}(-x)^{q+1} + q(-x)^q(1+x)^2 e^{-nx/(1+x)} \\ &\quad - qx(1+x)^2 \sum_{\nu=1}^{\infty} r_{n,\nu}(x) \int_0^{\infty} v_{n,\nu}(u)(e_1 - xe_0)^{q-1} du \\ &= \sum_{\nu=1}^{\infty} (\nu - nx)r_{n,\nu}(x) \int_0^{\infty} v_{n,\nu}(u)(e_1 - xe_0)^q du \\ &\quad + ne^{-nx/(1+x)}(-x)^{q+1} - qx(1+x)^2 \mu_{n,q-1}(x) \\ &= \sum_{\nu=1}^{\infty} r_{n,\nu}(x) \int_0^{\infty} u(1+u)v'_{n,\nu}(u)(e_1 - xe_0)^q du + (n+2)[\mu_{n,q+1}(x) \\ &\quad - (-x)^{q+1} e^{-nx/(1+x)}] + (1+2x)[\mu_{n,q}(x) - (-x)^q e^{-nx/(1+x)}] \\ &\quad + ne^{-nx/(1+x)}(-x)^{q+1} - qx(1+x)^2 \mu_{n,q-1}(x). \end{aligned}$$

Thus, we have

$$\begin{aligned} &x(1+x)^2 [[\mu_{n,q}(x)]' + q\mu_{n,q-1}(x)] = \\ &= \sum_{\nu=1}^{\infty} r_{n,\nu}(x) \int_0^{\infty} [(e_1 - xe_0)^2 + (1+2x)(e_1 - xe_0) + x(1+x)] v'_{n,\nu}(u)(e_1 - xe_0)^q du \\ &\quad + (n+2)[\mu_{n,q+1}(x) - (-x)^{q+1} e^{-nx/(1+x)}] \\ &\quad + (1+2x)[\mu_{n,q}(x) - (-x)^q e^{-nx/(1+x)}] + ne^{-nx/(1+x)}(-x)^{q+1}. \end{aligned}$$

Integrating by parts the last integral, we obtain that

$$\begin{aligned} & x(1+x)^2 [[\mu_{n,q}(x)]' + q\mu_{n,q-1}(x)] \\ = & -(q+2)\mu_{n,q+1}(x) - (q+1)(1+2x)\mu_{n,q}(x) - qx(1+x)\mu_{n,q-1}(x) \\ & + (n+2)\mu_{n,q+1}(x) + (1+2x)\mu_{n,q}(x). \end{aligned}$$

This completes the proof of the recurrence relation. The other consequences follow from the recurrence relation.  $\square$

LEMMA 3. *If we denote  $T_{n,q}(x) = (V_n e_q)(x)$  for  $q \in N$  and  $x \geq 0$ , then*

$$(n-q)T_{n,q+1}(x) = x(1+x)^2 [T_{n,q}(x)]' + (q+nx)T_{n,q}(x).$$

*In general, we have*

$$T_{n,q}(x) = x^q + \frac{q(q-1)}{2}x^{q-1}\frac{(1+x)(2+x)}{n-q+1} + O_x(n^{-2}).$$

The proof of the lemma follows along the lines of Lemma 1, we thus omit the details.

LEMMA 4 ([6]). *There exist the polynomials  $\phi_{i,j,q}(x)$  independent of  $n$  and  $\nu$  such that*

$$[x^q(1+x)^{2q}] \frac{\partial^q}{\partial x^q} [r_{n,\nu}(x)] = \sum_{\substack{2i+j \leq q \\ i,j \geq 0}} n^i (\nu - nx)^j \phi_{i,j,q}(x) [r_{n,\nu}(x)].$$

LEMMA 5. *If  $\mu_r^{J_{n,\nu}} = \sum_{i=0}^r \binom{r}{i} (-1)^i J_{n,\nu}(e_{r-i}) [J_{n,\nu}(e_1)]^i$ , then we have*

$$\mu_m^{F_{n,\nu}} = 0, m = 1, 2, 3, \dots, \quad \mu_2^{G_{n,\nu}} = \frac{\nu^2 + n\nu}{n^2(n-1)}, \quad \mu_3^{G_{n,\nu}} = \frac{4\nu^3 + 6n\nu^2 + 2n^2\nu}{n^3(n-1)(n-2)}$$

and

$$\mu_4^{G_{n,\nu}} = \frac{3(6+n)\nu^4 + 6(6+n)n\nu^3 + 3(8+n)n^2\nu^2 + 6n^3\nu}{n^4(n-1)(n-2)(n-3)}.$$

*Proof.* By definition, we have

$$b^{F_{n,\nu}} = F_{n,\nu}(e_1) = \frac{\nu}{n}.$$

By simple computation, we get

$$\mu_m^{F_{n,\nu}} = 0, m = 1, 2, 3, \dots$$

Moreover

$$\begin{aligned} G_{n,\nu}(e_q) &= (n+1) \int_0^\infty b_{n+2,\nu-1}(u) u^q du \\ &= (n+1) \binom{n+\nu}{\nu-1} \int_0^\infty \frac{u^{\nu+q-1}}{(1+u)^{n+\nu+1}} du = \frac{(\nu+q-1)!(n-q)!}{(\nu-1)!n!} \end{aligned}$$

Thus

$$b^{G_{n,\nu}} = G_{n,\nu}(e_1) = \frac{\nu}{n},$$

and

$$\mu_2^{G_{n,\nu}} = \sum_{i=0}^2 \binom{2}{i} (-1)^i G_{n,\nu}(e_{2-i}) [G_{n,\nu}(e_1)]^i$$

$$\begin{aligned}
&= G_{n,\nu}(e_2) - [G_{n,\nu}(e_1)]^2 \\
&= \frac{\nu^2 + n\nu}{n^2(n-1)}.
\end{aligned}$$

$$\begin{aligned}
\mu_3^{G_{n,\nu}} &= \sum_{i=0}^3 \binom{3}{i} (-1)^i G_{n,\nu}(e_{3-i}) [G_{n,\nu}(e_1)]^i \\
&= G_{n,\nu}(e_3) - 3G_{n,\nu}(e_2)G_{n,\nu}(e_1) + 3[G_{n,\nu}(e_1)]^3 - [G_{n,\nu}(e_1)]^3 \\
&= \frac{1}{n^3(n-1)(n-2)} \left[ n^2\nu(\nu+2)(\nu+1)\nu - 3n(n-2)(\nu+1)\nu^2 + 2(n-1)(n-2)\nu^3 \right] \\
&= \frac{4\nu^3 + 6n\nu^2 + 2n^2\nu}{n^3(n-1)(n-2)}
\end{aligned}$$

and

$$\begin{aligned}
\mu_4^{G_{n,\nu}} &= \sum_{i=0}^4 \binom{4}{i} (-1)^i G_{n,\nu}(e_{4-i}) [G_{n,\nu}(e_1)]^i \\
&= G_{n,\nu}(e_4) - 4G_{n,\nu}(e_3)G_{n,\nu}(e_1) + 6G_{n,\nu}(e_2)[G_{n,\nu}(e_1)]^2 \\
&\quad - 4G_{n,\nu}(e_1)[G_{n,\nu}(e_1)]^3 + [G_{n,\nu}(e_1)]^4 \\
&= \frac{1}{n^4(n-1)(n-2)(n-3)} \left[ n^3(\nu+3)(\nu+2)(\nu+1)\nu - 4n^2(n-3)(\nu+2)(\nu+1)\nu^2 \right. \\
&\quad \left. + 6n(n-2)(n-3)(\nu+1)\nu^3 - 3\nu^4(n-1)(n-2)(n-3) \right] \\
&= \frac{1}{n^4(n-1)(n-2)(n-3)} \left[ 6n^3\nu + 3(8+n)n^2\nu^2 + 6(6+n)n\nu^3 + 3(6+n)\nu^4 \right].
\end{aligned}$$

The other estimates follow similarly, we thus omit the details.  $\square$

### 3. DIRECT ESTIMATES AND ASYMPTOTIC FORMULA

Let

$$B_m[0, \infty) = \{f : |f(x)| \leq c_f(1 + x^m), \forall x \in [0, \infty)\}, \quad m > 3$$

where  $c_f$  is an absolute constant dependent on  $f$ , but independent of  $x$ . Let

$$C_m[0, \infty) = C[0, \infty) \cap B_m[0, \infty).$$

For each  $f \in C_m[0, \infty)$  we consider modulus of continuity (see [14]) as

$$\Omega(f, \delta) = \sup_{|\Delta x| < \delta, x \in \mathbb{R}^+} \frac{|f(x+\Delta x) - f(x)|}{(1+h^m)(1+x^m)}.$$

Additionally,  $C_m^*[0, \infty)$  denotes the subspace of continuous functions  $f \in B_m[0, \infty)$ , for which

$$\lim_{x \rightarrow \infty} |f(x)|(1 + x^m)^{-1} < \infty.$$

We consider the norm by

$$\|f\|_m = \sup_{0 \leq x < \infty} \frac{|f(x)|}{(1+x^m)}.$$

THEOREM 6. If  $f \in C_m^*[0, \infty)$ , then

$$\lim_{n \rightarrow \infty} \|(V_n f) - f\|_m = 0.$$

*Proof.* By the weighted Korovkin theorem due to Gadjiev [4], we know that if  $f \in C_m^*[0, \infty)$ , satisfying

$$\lim_{n \rightarrow \infty} \|(V_n e_i) - e_i\|_m = 0, \quad i = 0, 1, 2,$$

then we have

$$\lim_{n \rightarrow \infty} \|(V_n f)(x) - f(x)\|_m = 0.$$

In order to prove the result, we use Lemma 3. Clearly, the result holds for  $i = 0, 1$ . Thus, in order to complete the proof we proceed for

$$\begin{aligned} \lim_{n \rightarrow \infty} \|(V_n e_2)(x) - e_2\|_2 &= \lim_{n \rightarrow \infty} \frac{1}{(1+x^m)} \left[ x^2 + \frac{x(1+x)(2+x)}{n-1} - x^2 \right] \\ &= \lim_{n \rightarrow \infty} \frac{1}{(1+x^m)} \left[ \frac{x(1+x)(2+x)}{n-1} \right] = 0. \end{aligned}$$

This completes the proof of the theorem.  $\square$

THEOREM 7. For  $f^{(s)} \in C_B[0, \infty)$ ,  $0 \leq s \leq 4$ ,  $s \in \mathbf{N}$ ,  $x \in [0, \infty)$  and  $n \in \mathbf{N}$ , we have

$$\begin{aligned} &|((V_n f) - (R_n f))(x)| \leq \\ &\leq \frac{\|f^{iv}\|}{24(n-1)(n-2)(n-3)} \left[ 6x + 3(8+n) \left( x^2 + \frac{x(1+x)^2}{n} \right) \right. \\ &\quad + 6(6+n) \left( x^3 + \frac{3x^2(1+x)^2}{n} + \frac{x(1+x)^3(1+3x)}{n^2} \right) \\ &\quad \left. + 3(6+n) \left( x^4 + \frac{6x^3(1+x)^2}{n} + \frac{x^2(1+x)^3(7+15x)}{n^2} + \frac{x(1+x)^4(1+10x+15x^2)}{n^3} \right) \right] \\ &\quad + \frac{\|f'''\|}{3(n-1)(n-2)} \left[ 2x^3 + \frac{6x^2(1+x)^2}{n} + \frac{2x(1+x)^3(1+3x)}{n^2} + 3x^2 + \frac{3x(1+x)^2}{n} + x \right] \\ &\quad + \frac{\|f''\|}{2(n-1)} \left[ x^2 + \frac{x(1+x)^2}{n} + x \right]. \end{aligned}$$

*Proof.* Using Lemma 5 and Lemma 1, we have

$$\begin{aligned} \alpha(x) &= \sum_{\nu=0}^{\infty} r_{n,\nu}(x) (\mu_4^{F_{n,\nu}} + \mu_4^{G_{n,\nu}}) \\ &= \frac{1}{24n^4(n-1)(n-2)(n-3)} \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \left[ 6n^3\nu + 3(8+n)n^2\nu^2 \right. \\ &\quad \left. + 6(6+n)n\nu^3 + 3(6+n)\nu^4 \right] \\ &= \frac{1}{24(n-1)(n-2)(n-3)} \left[ 6(R_n e_1)(x) + 3(8+n)(R_n e_2)(x) \right] \end{aligned}$$

$$\begin{aligned}
& +6(6+n)(R_n e_3)(x) + 3(6+n)(R_n e_4)(x) \Big] \\
= & \frac{1}{24(n-1)(n-2)(n-3)} \left[ 6x + 3(8+n) \left( x^2 + \frac{x(1+x)^2}{n} \right) \right. \\
& + 6(6+n) \left( x^3 + \frac{3x^2(1+x)^2}{n} + \frac{x(1+x)^3(1+3x)}{n^2} \right) \\
& \left. + 3(6+n) \left( x^4 + \frac{6x^3(1+x)^2}{n} + \frac{x^2(1+x)^3(7+15x)}{n^2} + \frac{x(1+x)^4(1+10x+15x^2)}{n^3} \right) \right].
\end{aligned}$$

Additionally,

$$\begin{aligned}
\beta(x) &= \frac{1}{3!} \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \left| \mu_3^{F_{n,\nu}} - \mu_3^{G_{n,\nu}} \right| \\
&= \frac{1}{3!} \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \frac{4\nu^3 + 6\nu^2 + 2n^2\nu}{n^3(n-1)(n-2)} \\
&= \frac{1}{3(n-1)(n-2)} [2(R_n e_3)(x) + 3(R_n e_2)(x) + (R_n e_1)(x)] \\
&= \frac{1}{3(n-1)(n-2)} \left[ 2x^3 + \frac{6x^2(1+x)^2}{n} + \frac{2x(1+x)^3(1+3x)}{n^2} + 3x^2 + \frac{3x(1+x)^2}{n} + x \right].
\end{aligned}$$

Furthermore, we have

$$\begin{aligned}
\gamma(x) &= \frac{1}{2!} \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \left| \mu_2^{F_{n,\nu}} - \mu_2^{G_{n,\nu}} \right| \\
&= \frac{1}{2!} \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \frac{\nu^2 + n\nu}{n^2(n-1)} \\
&= \frac{1}{2(n-1)} [(R_n e_2)(x) + (R_n e_1)(x)] = \frac{1}{2(n-1)} \left[ x^2 + \frac{x(1+x)^2}{n} + x \right].
\end{aligned}$$

Finally, we get

$$\delta^2(x) = \sum_{\nu=0}^{\infty} r_{n,\nu}(x) (b^{F_{n,\nu}} - b^{G_{n,\nu}})^2 = 0.$$

Following [5, Theorem 3] and [1, Theorem 4], we derive that

$$\begin{aligned}
|((V_n f) - (R_n f))(x)| &\leq \|f^{iv}\| \alpha(x) + \|f'''\| \beta(x) + \|f''\| \gamma(x) \\
&\quad + 2\omega(f, \delta(x)).
\end{aligned}$$

Substituting the values of the above estimates, we get the desired result.  $\square$

**THEOREM 8.** *Let  $f \in C[0, \infty)$  with  $|f(t)| \leq C(1+t)^\gamma$  for some  $\gamma > 0, t \geq 0$ . If  $f^{(q+2)}$  exists at a point  $x \in (0, \infty)$ , then we have*

$$\begin{aligned}
\lim_{n \rightarrow \infty} n(V_n^{(q)} f)(x) - f^{(q)}(x) &= \frac{q(q-1)(q-2)}{2} f^{(q-1)}(x) + \frac{3q(q-1)(x+1)}{2} f^{(q)}(x) \\
&\quad + \frac{q[(q^2+2)x^2+3(q+1)x+2]}{2} f^{(q+1)}(x) \\
&\quad + \frac{x(1+x)(2+x)}{2} f^{(q+2)}(x).
\end{aligned}$$

*Proof.* Applying Taylor's expansion, we have From Taylor's theorem, we have

$$\begin{aligned}
(V_n^{(q)} f)(x) &= \sum_{v=0}^{q+2} \frac{f^{(v)}(x)}{v!} \left( \frac{\partial^q}{\partial \kappa^q} (V_n (e_1 - x e_0)^v)(\kappa) \right)_{\kappa=x} \\
&\quad + \left( \frac{\partial^q}{\partial \kappa^q} (V_n \psi(t, x) (e_1 - x e_0)^{q+2})(\kappa) \right)_{\kappa=x} \\
&= \sum_{v=0}^{q+2} \frac{f^{(v)}(x)}{v!} \sum_{j=0}^v \binom{v}{j} (-x)^{v-j} \left( \frac{\partial^q}{\partial \kappa^q} T_{n,j}(\kappa) \right)_{\kappa=x} \\
&\quad + \left( \frac{\partial^q}{\partial \kappa^q} (V_n \psi(u, x) (e_1 - x e_0)^{q+2})(\kappa) \right)_{\kappa=x} \\
&:= I_1 + I_2
\end{aligned}$$

where the function  $\psi(u, x) \rightarrow 0$  as  $u \rightarrow x$ . Obviously  $I_1$  is estimated as

$$\begin{aligned}
I_1 &= \frac{f^{(q-1)}(x)}{(q-1)!} \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q-1}(\kappa) \right)_{\kappa=x} \\
&\quad + \frac{f^{(q)}(x)}{q!} \left[ q(-x) \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q-1}(\kappa) \right)_{\kappa=x} + \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q}(\kappa) \right)_{\kappa=x} \right] \\
&\quad + \frac{f^{(q+1)}(x)}{(q+1)!} \left[ \frac{(q+1)q}{2} x^2 \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q-1}(\kappa) \right)_{\kappa=x} + (q+1)(-x) \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q}(\kappa) \right)_{\kappa=x} \right. \\
&\quad \left. + \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q+1}(\kappa) \right)_{\kappa=x} \right] \\
&\quad + \frac{f^{(q+2)}(x)}{(q+2)!} \left[ \frac{(q+2)(q+1)q}{3!} (-x)^3 \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q-1}(\kappa) \right)_{\kappa=x} \right. \\
&\quad \left. + \frac{(q+2)(q+1)}{2} x^2 \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q}(\kappa) \right)_{\kappa=x} \right. \\
&\quad \left. + (q+2)(-x) \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q+1}(\kappa) \right)_{\kappa=x} + \left( \frac{\partial^q}{\partial \kappa^q} T_{n,q+2}(\kappa) \right)_{\kappa=x} \right].
\end{aligned}$$

Applying [Lemma 3](#), we have

$$\begin{aligned}
I_1 &= \frac{f^{(q-1)}(x)}{(q-1)!} \left[ \frac{q!(q-1)(q-2)}{2(n-q+2)} \right] + f^{(q)}(x) \left[ 1 + \frac{3nq(q-1)(x+1)}{2(n-q+2)(n-q+1)} + O(n^{-2}) \right] \\
&\quad + f^{(q+1)}(x) \left[ \frac{nq[(q^2+2)x^2+3(q+1)x+2]}{2(n-q)(n-q+2)} + O(n^{-2}) \right] \\
&\quad + \frac{f^{(q+2)}(x)}{(q+2)!} \left[ \frac{x^3}{2(n-q+1)} + \frac{3x^2}{2(n-q-1)} + \frac{nx}{(n-q)(n-q-1)} \right].
\end{aligned}$$

Thus

$$\begin{aligned}
\lim_{n \rightarrow \infty} n((V_n^{(q)} f)(x) - f^{(q)}(x)) &= \frac{q(q-1)(q-2)}{2} f^{(q-1)}(x) + \frac{3q(q-1)(x+1)}{2} f^{(q)}(x) \\
&\quad + \frac{q[(q^2+2)x^2+3(q+1)x+2]}{2} f^{(q+1)}(x)
\end{aligned}$$



$$+ \frac{x(1+x)(2+x)}{2} f^{(q+2)}(x) + \lim_{n \rightarrow \infty} nI_2.$$

Next, in view of [Lemma 4](#), we have

$$\begin{aligned} |I_2| &\leq \\ &\leq \left( \sum_{\nu=1}^{\infty} \sum_{\substack{2i+j \leq q \\ i,j \geq 0}} n^i |\nu - n\kappa|^j \frac{|\phi_{i,j,q}(\kappa)|}{\kappa^q (1+\kappa)^{2q}} r_{n,\nu}(\kappa) \int_0^{\infty} v_{n,\nu}(u) |\psi(u, x)| |u-x|^{q+2} du \right)_{\kappa=x} \\ &\quad + |\psi(0, x)(-x)^{q+2}| \left( \frac{\partial^q}{\partial \kappa^q} r_{n,0}(\kappa) \right)_{\kappa=x} \\ &:= E_1 + E_2. \end{aligned}$$

Because of the fact  $\psi(u, x) \rightarrow 0$  as  $u \rightarrow x$ , for a given  $\epsilon > 0$  there will exist a  $\delta > 0$  such that  $|\psi(u, x)| < \epsilon$  whenever  $|u - x| < \delta$ .

Furthermore, if  $m \geq \{\gamma, q + 2\}$ , and  $m$  a positive integer

$$|(u - x)^{q+2} \psi(u, x)| \leq M |u - x|^m$$

for  $|u - x| \geq \delta$ . Thus

$$\begin{aligned} |E_1| &\leq \sum_{\nu=1}^{\infty} \sum_{\substack{2i+j \leq q \\ i,j \geq 0}} n^i |\nu - nx|^j \frac{|\phi_{i,j,q}(x)|}{x^q (1+x)^{2q}} r_{n,\nu}(x) \left( \epsilon \int_{|u-x| < \delta} v_{n,\nu}(u) |u - x|^{q+2} du \right. \\ &\quad \left. + M \int_{|u-x| \geq \delta} v_{n,\nu}(u) |u - x|^m du \right) \\ &:= J_1 + J_2. \end{aligned}$$

Let us consider

$$K = \sup_{\substack{2i+j \leq q \\ i,j \geq 0}} \frac{|\phi_{i,j,q}(x)|}{x^q (1+x)^{2q}}.$$

Using Schwarz's inequality, [Lemma 1](#), [Lemma 2](#) and [Lemma 3](#), we deduce that

$$\begin{aligned} J_1 &= \epsilon K \sum_{\nu=1}^{\infty} \sum_{\substack{2i+j \leq q \\ i,j \geq 0}} n^i |\nu - nx|^j r_{n,\nu}(x) \left( \int_0^{\infty} v_{n,\nu}(u) du \right)^{1/2} \\ &\quad \left( \int_0^{\infty} v_{n,\nu}(u) (e_1 - xe_0)^{2q+4} du \right)^{1/2} \\ &\leq \epsilon K \sum_{\substack{2i+j \leq q \\ i,j \geq 0}} n^{i+j} \left( \sum_{\nu=0}^{\infty} r_{n,\nu}(x) \left( \frac{\nu}{n} - x \right)^{2j} - x^{2j} r_{n,0}(x) \right)^{1/2} \\ &\quad \left( V_n((e_1 - xe_0)^{2q+4}, x) - x^{2q+4} r_{n,0}(x) \right)^{1/2} \end{aligned}$$

$$= \epsilon \sum_{\substack{2i+j \leq q \\ i, j \geq 0}} n^{i+j} \left\{ O_x \left( \frac{1}{n^j} \right) + O_x \left( \frac{1}{n^s} \right) \right\}^{1/2} \left\{ O_x \left( \frac{1}{n^{q+2}} \right) + O_x \left( \frac{1}{n^p} \right) \right\}^{1/2},$$

for any  $s, p > 0$ , choosing  $s$  and  $p$  such that  $s > j$  and  $p > q + 2$ , we obtain

$$J_1 \leq \epsilon \sum_{\substack{2i+j \leq q \\ i, j \geq 0}} n^{i+j} O_x \left( \frac{1}{n^{j/2}} \right) O_x \left( \frac{1}{n^{q/2+1}} \right) = \epsilon \cdot O_x(n^{-1}).$$

Since  $\epsilon > 0$  is arbitrary,  $nJ_1 \rightarrow 0$  as  $n \rightarrow \infty$ .

Applying again Schwarz's inequality, [Lemma 1](#) and [Lemma 3](#), we obtain

$$\begin{aligned} J_2 &\leq M_1 \sum_{\substack{2i+j \leq q \\ i, j \geq 0}} n^{i+j} \left( \sum_{\nu=0}^{\infty} \left( \frac{\nu}{n} - x \right)^{2j} r_{n,\nu}(x) - x^{2j} r_{n,0}(x) \right)^{1/2} \\ &\quad \left( \sum_{\nu=1}^{\infty} r_{n,\nu}(x) \int_{|u-x| \geq \delta} v_{n,\nu}(u) (e_1 - xe_0)^{2m} du \right)^{1/2} \\ &\leq M_1 \sum_{\substack{2i+j \leq q \\ i, j \geq 0}} n^{i+j} \left\{ O_x \left( \frac{1}{n^j} \right) + O_x \left( \frac{1}{n^s} \right) \right\}^{1/2} \left\{ O_x \left( \frac{1}{n^m} \right) + O_x \left( \frac{1}{n^l} \right) \right\}^{1/2}, \end{aligned}$$

for any  $s, l > 0$ . We now choose  $s, l$  such that  $s > j, l > m$ . Then, we derive that

$$J_2 \leq M_1 \sum_{\substack{2i+j \leq q \\ i, j \geq 0}} n^{i+j} O_x \left( \frac{1}{n^{j/2}} \right) O_x \left( \frac{1}{n^{m/2}} \right) = O_x \left( \frac{1}{n^{(m-q)/2}} \right),$$

which implies that  $nJ_2 \rightarrow 0$ , as  $n \rightarrow \infty$ , on choosing  $m > q + 2$ .

From the above estimates of  $J_1$  and  $J_2$ ,  $nE_1 \rightarrow 0$ , as  $n \rightarrow \infty$ . Finally, we have

$$|E_2| = |\psi(0, x)(-x)^q| \left( \frac{\partial^q}{\partial \kappa^q} r_{n,0}(\kappa) \right)_{\kappa=x}.$$

Since  $|\psi(0, x)(-x)^q| < N_1$  for some  $N_1 > 0$ , also













$$\left( \frac{\partial^q}{\partial \kappa^q} r_{n,0}(\kappa) \right)_{\kappa=x} = \left[ \frac{\partial^q}{\partial \kappa^q} \left( e^{-n\kappa/(1+\kappa)} \right) \right]_{\kappa=x}$$

which yields that  $nE_2 \rightarrow 0$  as  $n \rightarrow \infty$ . By collecting the estimates of  $E_1$  and  $E_2$ , we obtain  $nI_2 \rightarrow 0$  as  $n \rightarrow \infty$ . Therefore, combining  $I_1$  and  $I_2$ , the required result follows.  $\square$

**COROLLARY 9.** *If  $f \in C[0, \infty)$  and  $|f(t)| \leq C(1+t)^\gamma$  for some  $\gamma > 0, t \geq 0$  with the existence of  $f''$  in  $x \in (0, \infty)$ , then we have*

$$\lim_{n \rightarrow \infty} n((V_n f)(x) - f(x)) = \frac{x(x^2+3x+2)}{2} f''(x).$$

## REFERENCES

- [1] A. M. ACU and I. RAŞA, *New estimates for the differences of positive linear operators*, Numer. Algor., **73** (2016), pp. 775–789, <https://doi.org/10.1007/s11075-016-0117-8>. 
- [2] O. AGRATINI, *Approximation properties of a family of integral type operators*, Positivity **25** (2021) no. 1, pp. 97–108, [doi.org.10.1007/s11117-020-00752-y](https://doi.org/10.1007/s11117-020-00752-y). 
- [3] P. N. AGRAWAL and K. J. THAMER, *Approximation of unbounded functions by a new sequence of linear positive operators*, J. Math. Anal. Appl., **225** (1998), pp. 660–672, [https://doi.org.10.1006/jmaa.1998.6036](https://doi.org/10.1006/jmaa.1998.6036). 
- [4] A. D. GADJIEV, *Theorems of Korovkin type*, Math. Zametki, **20** (1976) no. 5, pp. 781–786.
- [5] V. GUPTA, *General estimates for the difference of operators*, Comp. Math. Methods, **1** (2019):e1018, pp. 1–12, [https://doi.org.10.1002/cmm4.1018](https://doi.org/10.1002/cmm4.1018). 
- [6] V. GUPTA and G. AGRAWAL, *Approximation for link Ismail-May operators*, Ann. Funct. Anal., **11** (2020), pp. 728–747, [https://doi.org.10.1007/s43034-019-00051-y](https://doi.org/10.1007/s43034-019-00051-y). 
- [7] V. GUPTA and G. C. GREUBEL, *Moment estimations of new Szász–Mirakyan–Durrmeyer operators*, Appl. Math. Comput., **271** (2015), pp. 540–547, [https://doi.org.10.1016/j.amc.2015.09.037](https://doi.org/10.1016/j.amc.2015.09.037). 
- [8] V. GUPTA and M. A. NOOR, *Convergence of derivatives for certain mixed Szász–Beta operators*, J. Math. Anal. Appl., **321** (2006) no. 1, pp. 1–9, [https://doi.org.10.1016/j.jmaa.2005.07.036](https://doi.org/10.1016/j.jmaa.2005.07.036). 
- [9] V. GUPTA and TH. M. RASSIAS, *Direct estimates for certain Szász type operators*, Appl. Math. Comput., **251** (2015), pp. 469–474, [https://doi.org.10.1016/j.amc.2014.11.078](https://doi.org/10.1016/j.amc.2014.11.078). 
- [10] V. GUPTA and M. TH. RASSIAS, *Moments of Linear Positive Operators and Approximation*, Series: SpringerBriefs in Mathematics, Springer Nature Switzerland AG, 2019, [https://doi.org.10.1007/978-3-030-19455-0](https://doi.org/10.1007/978-3-030-19455-0). 
- [11] V. GUPTA, D. K. VERMA and P. N. AGRAWAL, *Simultaneous approximation by certain Baskakov–Durrmeyer–Stancu operators*, J. Egyptian Math. Soc., **20** (2012) no. 3, pp. 183–187, [https://doi.org.10.1016/j.joems.2012.07.001](https://doi.org/10.1016/j.joems.2012.07.001). 
- [12] M. ISMAIL, *Polynomials of binomial type and approximation theory*, J. Approx. Theory, **23** (1978), pp. 177–186, [https://doi.org.10.1016/0021-9045\(78\)90105-3](https://doi.org/10.1016/0021-9045(78)90105-3). 
- [13] M. ISMAIL and C. P. MAY, *On a family of approximation operators*, J. Math. Anal. Appl., **63** (1978), pp. 446–462, [https://doi.org.10.1016/0022-247X\(78\)90090-2](https://doi.org/10.1016/0022-247X(78)90090-2). 
- [14] N. ISPIR, *On modified Baskakov operators on weighted spaces*, Turk. J. Math., **26** (2001) no. 3, pp. 355–365.

Received by the editors: June 30, 2021; accepted: August 29, 2021; published online: February 17, 2022.